Shri Jain P G College, Bikaner
CP-2311

M.Com. (Final) Examination, 2019

ACCOUNTANCY & BUSINESS
STATISTICS

Paper-V
(Direct & Indirect Taxes)

Time allowed : Three hours
Meximum Marks : 100

SECTION - A (Marks : 2 x 10 =20)
Answer all ten questions (Answer limit 50 words).
Each question carries 02 marks.
g us — 3 @FF:2x 10=20)
TUE TH U1 % I A (IT i 50 ) | IS

Y 02 3F H1 2 |

SECTION-B (Marks: 8 x5=40)
Answer any five questions out of seven (Answer limit
200 words). Each question carries 08 marks.

LU (31 : 8 x 5=40)
| ¥ el uie el F I AR (Im w200
Tee) | Tedish I 08 3TH 1 2 |
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SECTION —C (Marks : 20 x 2=40)
Answer any two guestions out of four (Answer limit
500 words). Each question carries 20) marks.
Gz -8 (F% : 20 x 2 =40)

- = as =

=R B 3 &1 j;.mdﬂuﬁq?%ﬂﬂmacﬁ:

]-LuM j“: u..ﬂﬁ. =1 \.

SECTION-A
GuE—-3A
1.  Attempt all questions :

T T % AL AT

(i) What do you mean by Joint  Stock
Companies ?
g S A we A FA d

(ii)  Explain surcharge.

(iii) What do you mean by non-resident assessees ”
wlamd wem fEa A 2 7

(iv) Who are representative assessecs
yfafafy FAz@ FA 74 2 7

(v) What do you mean by “date of receipt of

payment’
'y wife =1 fafa’ & s w2 s 2 7

CP-2311 2

(vi) State any four examples of ‘Related
Persons”.

ﬂ_ﬂm.m.ﬂ.m =

(vii) Can composition tax be collected from the
customers 7

T A T A A AR Fm i HEA R 7

(viii) What type of goods may be sent for job-
work ?

(ix) What is meant by reverse charge ?
AT A F ATAE R 7

(x) Whatis zcro-rated supply 7

A T2 7

SECTION-B
GEg -9
Following is the profit and loss ‘account of a
limited company for the year ended 31™ March,

2018 disclosed a profit of T 1,83,908 which
contains following items :

CP-2311 3 - P.T.O.
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frafsfaa - @@ 31 7, 2018 @1 S
T U i FE H R ST 1,83.968 H M
wefifd ol R | 39 aW-F @[ W g J9

fraffiaa wei = wftfas e mn .

Opening Stock 1.80,000
Fines and penalties 15.000
Income tax 50,000
Brokerage and Commission 10,000
Cost of issue of debentures 5,000

Donation to P.M. National Relief Fund 18,000

Loss by Embezzlement 25,000
Depreciation 12,000
General Reserve 10,000
Closing Stock 1,62.000
Miscellaneous Receipts 50.000
Dividend from Indian Companies 38,400
Premium on issue of shares 25,000
Revenue from fisheries 1.000

The closing stock and opening stock are shown at
cost less 10%. Allowable depreciation ¥ 15,000,

Calculate the total income.

i e @ R wh ) T e
10% 9 (@ W f@mn = ? | wiega gw
¥ 15.000 | Fe1 3174 F1d 61 |

CP-2311 4

CP-2311 5 P.T.O.

The particulars of Indian income of non-resident
individual for the previous year ended 31 March,
2018 are as under -

31 7, 2018 @ wHH EH I T a4 6 T

sifrareft safen <) st 3 o oo fo= @
T
(i) Salary received 1,20,000
(i1) Taxable income from house 21,000
property
(i) Short-term capital gain 10,000

(iv)  Long-term capital gain in 60,000
respect of land and buildings

(v) Long-term  capital loss in 10,000
respect of shares and securities

(vi) YA share of profit from firm 40,000

(vii)  Interest on capital trom firm 24.000

(viit)  Casual income 13,000

He paid lite insurance premium ¥ 14,000 on a
policy taken on his own life and donated a sum of
¥ 20,000 to an approved institution. Compute his
total income.

I I Sfem W we aifert 9T 14,000
site =fm i & gr § | 39 srpifea dens
F1 20,000 F1 g feam R | Iwht F@ 3w A AT
hifr |
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revistered dealer under CGST Act Tt_

4, Mr. *X'isa
of business is located at Jaipur. He

whose place
receives  supplies  from both registered and

unregistered pessons. The detailed description of

Calculate the total amount of tax payable by Mr. X
for the month of September if he is liable for the

payment of tax on the basis of reverse charge under

goods purchased from unregistered persons Section-9(4) of the CGST Act. Is he liable for
during the month of September is as follows : payment of both CGST and SGST ? If so, then state
ht T HAE WA @ Haret AfaaH (CGST the amount of cach tax separately.
Act) % TEd U Gefiepd AR & Fode SR e ferere 35 o o -TFA" 70 54 e T TR
S s [ el ol T B R T ef A o den- st
& safedl & wrer i 3Mgfd W w1 2 | Rrder wig i .
o .t " £ U 9(4) * dga faulid TR & AER TWH &
1 rusfighd =afehal § 38 g0 fd T 74 1 forega »
e P e T o fore greft 8 1 71 98 g Ao T Hal-aH
| U59 AT W@ Hai-X Sl il % PraF & fog
Amount of No. of days in month | Rate of e “
purchase per Day for such purchase GST Tt @ 7 afe &, FUHI T -
sfAwmrholy | eARA Hewmd | GST Fard |
EZEASD] e
X 3 i i
3.000 4 days 18% 5.  What type of persons are liable for registration

¥4,000 5 days 12% under the Central Goods and Service Tax Act,

< 5.000 3 days 5% 20172

% 6,000 5 days 18% fore wohR & afth g O U Har- AT,

% 7,000 6 days 129% 2017 % =i arRft § ?

< 8,000 7 days 5%

CP-2311 6
CP-2311 ) P.T.O.
—_ i

Scanned with CamScanner




6. Mr. "Y', a retail trader who keeps no inventories, frira B 5 mm g
fpes snAE e AR ARE w ST @
| sl 2 |

GST ®MA % dgd avash faega duTHe
frepTe @ 5 = 3 1,40,000 T @, S wEHIE
IS ST 9T T 70,000 T T2 W1 4fe 3 2

7 2.80.000 =T 2 4

presents the following expected information for
the year :
(i)  Purchase of goods : T 50 lakhs (GST @ 5%)

(i)  Sales (at fixed selling price inclusive of all
taxes) : ¥ 60 lakhs (GST @@ 5%)

Discuss  whether  he  should opt  for
composition scheme if composite tax is 1%

of turnover.

Expenses of keeping detailed  statutor
-4 ot u (¢ . . 3 i
| - _ | y he GS Y 7. Explain any two modes of recovery of tax under
records requived under the GST laws will :
: the Central Goods and Scrvice Tax Act.

HER e T ot sfufian o agd W e
i foreedi <1 fafir o1 awemsd | .

be ¥ 1,40,000 p.a. Which shell get reduced
to ¥ 70.000, it composition scheme is opted

for 7 Other expenses are ¥ 2,80.000 p.a.
A A, Th FeH AR S WA h B g T
A 7, 9d & for snyeR) Feafafas aonfm Ll
WA Ll R ;

8. Can any person other than the supplier or
recipient of goods or services be liable to pay tax

i e i ¢ ice Tax ?
(iy I %134 - ¥ 50 TG (GST @ 5%) under Integrated Goods and Service Tax

(ii) wﬂiﬁﬁﬂm&%ﬁ%w@mmﬂmﬁ
W) - X 60 9TE (ferska W GST 5% Y = @)

Explain.

1 A T H13T R sngfefmat @ wHewwl & Jrera
mﬂ%ﬂw_ﬂ&%aﬁﬁ@ﬂ-ﬁwmﬁﬁ
mﬂnww_ﬁ%%ﬁaﬁw@ﬁm%_h_

CP-2311 8 CP-2311 9 P.T.O.
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SECTION-C
@is -4
) An Indian Company, in which the public are
substantially interested, has income for the year
ending on 31* March, 2018 derived from the
following sources :
4
(i)  Profit from power generation 1,60,000
plant established in 2010 at
Jaisalmer
(ii) Dividend from an Indian  70.000
company (In Jan., 2018)
(i) Long-term  capital  gain 1,00,000
(taxable)
(iv) Profit from an industrial 2,00,000
undertaking (manufacture
started in 1994-95)
(v)  Profit from an industrial 2.80,000
undertaking (established in
backward district of category
A in April, 2003 )
CP-2311

10

Go_:_uu:w donated ¥ 60,000 to a Govt. school.
Calculate total income of the company and also
calculate tax payable for the assessment year
2018-19. The company distributed ¥ 80,000 -as
dividend to its sharcholders on 20™ February,
2018. Total turnover of the company during the

previous year 2015-16 was ¥ 25 crore.

v weE el e w1 oaReE fwa g, A
31 @, 2018 H THW EW a9 94 & fom
frfafeq @vEl @ 3 s
4
(i) SEenr # 2010 ¥ Triya forgd
IeqrEA I | T

(i) T W™ & @ @nma o 70,000

(S, 2018 ¥)
(ifi) ErefepTef qef o (R F)

(iv) afeifes 3wRE A @9 (3@ 2.00,000

1994-95 & ST M)

CP-2311 11 P.T.O.

1.60.000

1,00.000
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10.

I1.

CP-2311

(v) e IEE ° M (A ouft & 2.80,000

-

frogs fyer § 3@, 2003 H
TyTfid)

FET 3 T T Shel § 2 60,000 TF G | FE
® Fa JA hl A HIFAC qur FEHT g H
fagttr ad 2018-19 & fog @@ @ &1 oA o
HITa | FE 9 20 HEd, 2018 & T 80,000
AT % TG A Y IEUHT HI qaied 6 | ™
T4 2015-16 1 FH &1 FeT 7194 T 25 FUS AT |

Explain the provisions of Section-15 relating to
value of taxable supply.

-~

AR A F 0 § e 9w 15 % gy
F1 GHATT |

Explain about arrangements of input tax credit
during transitional period of CGST.

ﬁnﬂnﬂﬁﬁﬂ-ﬂ.&nﬂﬁ@ﬂmﬁ%ﬁdﬁ
HEH] AT F GHHE |

Jaipur Consumer Co-operative Socicty has

submitted the following details of its income for

the year ending on 31" March, 2018.

Calculate its total income and tax liability for the

assessment year 2018 - 19 :

<
(1) Profit from the industry established on 1.45,900
1™  December, 1997 in notified
backward state
(i)  Income from providing credit facilities 28,000
to its members
(iii) Dividend received from other co- 12,000

operative societies

(iv) - Rent received from house property let 1

out for residential purposes

(v) Interest received on securities listed in

stock exchange

0,000

5.400

[ T
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(vi)

(vii)

(viii)

(ix)

Taxable income from letting godowns

»

for storage and processing of

commodities

Interest on fixed deposit  with

Rajasthan Co-operative Bank

Income from sale of agricultural

produce grown by its members

Loss of business of electrical goods for
2013-14

forward ‘

assessiment  year  carried

8.000

2.000

15,000

16,000

Expenditure relating to house property let out

debited to Profit and Loss Account of the industry

are as follows :

(a)
(b)
(c)
(d)

Repairs < 3.800
Municipal tax < 1,000
Rent collection charges T 700
Fire insurance premium < 1,000

The socicty gave donation of % 11,000 to

Rajasthan Government for medical relief fund.

CP-2311

14

11

r

T IR g B/fafa 3 31 W, 2018 F1 @9mH
2A arel T4 % T a1t 3 o fe for e
fer 2 |
o faufeor ad 2018-19 % ol gaehl o1 3ma wd
erfred <1 o i

(i)

(1)

cen

(iii)

(iv)

(v)

(vi)

CP-2311

sftgtaa feg T § |
femmar, 1997 #1 wifim 3@
g 3y

394 "eEl @ grE-gaund
T A

3= wghHl @At # WA

IHT

freraslt 3exai & fordl o m
& 1T R et | W R
wy fafsm w gfw
wfesferal & sarst wm R
Tieml ! gl o YUSRY T
e & ol fR e |
H A A

15

<
1,45,900

28,000

12,000

10,000
5.400

8,000

P.T.O.
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(vii) TeRIH Hewdl @ TS 2.000
ST R AT

(viii) T TEE! g1 Ieied FHi 15,000
391 i o= | 31

(ix) fasefl & omm & e &l 16,000

= Frafwr 99 2013-14 &1 &0
EaukSIERIE
fpO9 W 3SR T HHA g F e o I 6

e g Em % am e fam g

(31) HOHd 3,800
(§) TRATcTeR! & ?1,000
(@) feruen 5ug = 2700

(g)  atfir sfimn shfiem 71,000
fufa 3 o™ TR #i fafera Tgd s & ol
Z11.000H A fen g |

—_—

CP-2311 16
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€ CP-2312

M.Com. (Final) Examination, 2019
ACCOUNTANCY & BUSINESS STATISTICS
Paper - VI
(Operations Research)

Time allowed : Three howrs
Maxinnmm Marks @ 100

SECTION -~ A (Marks 2 x 10 = 20)
Answer all ten questions (Answer limit 50 words).
Fach question carrics 2 marks,

WUE — A (F% 2 % 10 = 20)
At g8 Y O ge Ao (v dn 50 wre) | yers
Y9 2 3 1 |

SECTION - B (Marks 8 x 5 = 40)
Answer any five questions out of seven (Answer limit
200 words). Each question carrics 08 marks,

GUE ~q (3% 8 % 5 = 40)
ard H A forl aba i & 3w s, (ame o 200 we) |
YA U 08 31k %1 B |

SECTION - C  (Marks 20 x 2 = 40)

Answer any two questions out of four (Answer limit
500 words). Each question carries 20 marks.

WUE -4 (31 20 x 2 = 40)

A H A formd 2 el % ve @fsi (3ac i 500 ) |

IR U9 20 3E H D |

CP-2312 1 P.T.O.
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SECTION - A
gig - A
(i) Explain Vogel's approximation rule.
e i 3AA fafy 51 JuzET |

(ii) What do you mean by Unbalanced
assignment problem ?

P

srefer Sfa-=Tae e | 3 1 AHwd 2 7

(iii) Explain the characteristics of Linear
Programming.

(iv) State the advantages of dual.

(v) Explain the concept of dominance in game
theory.

et Tazr= i TfEd $1 HaUHn S aEEa |

(vi) What is meant by Arrival rate and Service
rate ?
A 2 9 a1 gL A N AHE R 7

(vii) Meaning of Cost Benefit Analysis.
ArTa @ fagerawr &1 714 |

{viii) Point out two difterences between PERT
and CPM.
42 ud H1.91.09. 1§ g1 3{e F4750 |

CP-2312 2

SECTION-B
gEg -9
2. Solve the following Transportation problem : 8
_| | Store
Factory | Transportation Cost | Supply
Al Bl cCc| D |
F, |91 1291 6 7
F, 71 3 7 741 6
F, 6| 5 9 11 9
Demand | 6 | 4 6 12 1\ 22
8
CP-2312 3 P.T.O.

(ix) A work measurement study was conducted

in a company for 8 hours. The following
results were obtained :

Units Produced 320

Idle Time 15%

Performance rating  120%

Allowance time 12% of Standard time.
Calculate the standard time for one unit.

uF FOE § 8 au F o FRETa AT
foran | Fafertaa i g 70 -

ZAqTieA 3FIEdl 320
Eaprickep! 15%
FHTHEHAT e 120%

<7l 93 YA 998 F 12% 2 | 914 7 T
O5g AE F4 |

(x) Name the techniques of Value Analysis.

a1 Taverm & wfafuai & = 533
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».  Explain the significance of PERT to a Manager.
Also point out limitations of this technique. 4 +4
T JaUH 6 [0 93 qehAieh shl HETT T Sl
gIfeiw, | 8 dehieh ol HIHTE i Sas |

= F 91 12 9 6 7 6.  The following information is available about an
_ 2
economy. 8
F, 7 3 7 7 6 . o s & ;
: T Ao § watia faf gaed fo v
Fy 6 5 D 11 Y
gt |6 4 | 6 | 12 |\ 22 To Sector
Nx ™~ From T | ,
Sectors Agri- | Industry | Service | Con- otn
culture sumer
3. Explain the applications and limitations of lincar Agriculure | 100 135 50 155 530
programming, 8 Industry | 200 | 600 100 | 1600 | 2500
‘tfearer e @ 39T vE =M @ ARy | Supcice 50 30 180 | 1500 | 1810
Total 350 905 330 3255 | 4840
4. Solve the following game problem : 8 Primary
forer st e et g wRif [ tnpu i 0 4 Lol s

(1) Calculate technical coefticierits. 3 o o
e et o) o i | .
(i) Obtain simultancous equations..
g aiterton w fmio Hifs )
CP-2312 5 s P.T.O.

p! ‘3

wClafalc
35

R, 70 70 55

Ry |75 [55 |05

CP-2312 4
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. of assigning four clerks to

Consider a proble
four tasks. The time (in hours) required to

complete the tasks are given below

ﬁ%&%ﬂ%i%@iﬁ

=1
ﬂﬁmﬂﬂuﬁﬂﬂ:ﬁﬂﬂd%ﬂﬂ | < =Rl T Y
T T (e ) AR R TR
Clerk Task| A |B |C |D
1 417 5] 6
> _lg|7]|4
3 3-S5 3
4 61642

Clerk 2 cannot be assigned to task A and Clerk 3
cannot be assigned to task B. Fird all the optimum

assignment schedules. 8
Feh 2 1 A 1 NTEe T R 511 HepdT 9 FAh
3 %1 M B 1 AT T A1 W Fehar | 3rqeRed
arfurmrmem w= e hifs |

CP-2312 6

4,

T e Ta—

»s.

CP-2312 7

The Postmaster of a Post Office think that during
working hours customer uses tclephone in every
five minutes and average length of phone call is 4
minutes. 1f the distribution of arrivals is Poisson
and that of service time is exponential. then find :
(a) (i) Utilization Ratio, (ii) Expected number of
customers in system, (iii) mémﬁmn_ length of
waiting line, (iv) Expected time in system,
(v) Expected waiting time and probability of
having at least one customer in waiting line.

(b)  If telephone booth works for 24 hours and it
cost ¥ 10 for each hours of waiting by a
customer, then find the total waiting time
and corresponding cost. 8

U SRR I ST I8 3N el @ fop ferameiiet

ﬂﬂmﬂﬁﬂﬁ@ﬂﬂﬂﬁﬂ.&ﬁ%%ﬁ

Iy wr: g ute fie § e € i s e S

w9 W 1 B0 ° 4 e %1 99 a2 | 3fe 3

S GTEd §eq Bl 3R a1 q9 1 §ed JErdieh!

mNu—Mu_.mJ"

(@) (i) STAfET 31U, (i) aen § Sfwd $
afra T, (iii) 3fEd T Har i Faws,
(iv) =TERn H A "W, (v) STHTHG
Teilen T g1 HAR 3§ A Y HH Th Ao &
21 =1 wTRreHar 3T HIRT | _

(b) %%%Km@ﬂ%ﬂéw mﬁﬁ_
T N Seen § Fdid U Wi gve #i-
mﬂa«_o%%u%ﬁwﬂ%mﬁﬁm&ﬁ
TH AT I A

P.T.O.
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SECTION-C !w\ F (b) Find the optimal solution of the following
g —-d o L.P.P. by solving its dual. 3
@ﬂ TH FEFE AEEI F T5S 24 B 74
9, What do you mean by Operations Research it 7 -
Give contribution of Operations Research in Minimize Z=x,+X,
business and industry. Explain limitations of Subjectto  3x, +2v, 24
Operations Research, 5+10+5 -x; + 35,25
o & . _ i 45, + 1x, 2 5
ufr=rer g A/ e @ Afug@ 2 7 iy . J oy
T AEAIEE a0 SN 44 0 AEE 76, | x; 20, x, 20 10
ufrarer e i Hied 7z | I1. Discuss the assumptions. applications and
limitations of Input-Output Analysis. 20

£1 TIAI%, 79E7 vd BEA #

10. (a) Solve the following Linear Programming
; 12. The following table gives the three time estimates
problem :

for different activities, 20
fe1 TEf FRiEn ) A A FIa TActivity | Optimistic | Most Likely | Pessimistic |
Time (t) | Time (1) Time (t) ﬂ
Minimize Z=2x)+x, [ 1 3 5 N
23 3 4 5 ﬂ
Subjectto 3y, .y, =3 2-4 | 3 1 |
2-5 3 3., f -2 F]
4y, +3x, 26 3-4 _ 2 R
3-6 2 5 14 |
v +2v, S4 4-6 2 3 4 W
- 5-7 | 1 7 i
. . 6-7 12 12 . o
CP-2312 9 P.T.0.

CP-2312 8
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(i)

(ii)
(ii1)

(iv

)

(v)

(vi)

Calculate the expected time and variance of
each activity.

Draw the network diagram for the project.
Caleulate the expected length of critical
path and standard deviation of critical path.
Find the probability that the job will be
completed in 30 days, 27 days and 25 days.
Find the duration which has 95%
probability of completion.

If project due date is 29 days, find the
probability of not meeting it.

fra arfersm o fafy= fEnsn % oo dm qwamaE

fagmu 2 .
- smErd | sftem | PowmEd |
g ifgs a9y g
1.2 | 3 4
2-3 3 4 5
2-4 _ 3 I
2-5 3 3 9
3-4 | 7 3
3-6 2 5 14
4-6 2 3 4
5-7 l _ |
i 2 12 12
7-8 1 5 N
CP-2312

10

»
\
ey

(1)

-

(11)
(1i1)

(iv)

(v)

TS a1 @ I §9g 9 War
HITAT |

qiETAA1 &1 93 93 F9130 |

Fifas Ty $ TGEE sav g i fa=eE
T HITa |

T % 30 fam, 27 fm, 253 fA A R AT R
TIfgEdl {1 AT |

950, mfaEal & foau g qaeA $ safy
A HifAu |

(vi) e i $ swafa 20 fe faifa K s

Arca under

A 7a wafa 7 giEEE & g0 Td
wifea A I |

Z 1.39 0.93 1.64

04177 0.3238  0.4495

Normal Curve

CP-2312

1
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CpP-2314

M.Com. (Final) Examination, 2019
ACCOUNTANCY & BUSINESS STATISTICS
Paper-VI1
(Management and Operational Audir)

Time allowed : Three hours
Mavinum Marks : 100

SECTION - A (Marks 2 x 10 =20)
Answer all ten questions (Answer limit 50 words). Each question carries 02 marks,
TS - (3FF2 x 10=20)
TR W N % I R (I HmT 50 ) | W N 02 FH R |

SECTION-B (Marks ¥ x 5=40)
Answer any five questions out of seven. (Answer limit 200 words). Each question carrics 08
marks.
| —-F (IH S x 5=40)

TTa A A faeedl wie wel o I e (3T HET 200 192) | TOF WH 08 b T R |
SECTION-C (Marks 20 x 2 =40)
Answer any two questions out of four. (Answer limit 500 words). Each question carries 20
marks.
e - (3F20 x 2 =40)

S § el Q) w3 IR S (I 500 I2) | WS WEH 20 S H1R |
SECTION - A
g —

1. (i) Whatdo you mean by managements audit ?

WA 3T B TG 91 N R 7 |

(ii) What do you mean by review ol manufacturing process ?

fafmior whra ) wfien | e 7 A @ ?

CP-2314 1 P.T.O.

Scanned with CamScanner



L e fertaking 7
(ili) What is the meaning ol _z.._:_n_f:_.___ af public seetor bt crinking

i A4 s it e i 8l ST A1

(iv)  What is the jurisdiction of Audit Board

st a1 s ardnia am R 7

(v)  What do you man by cont uudit?

vlvezm signon it ad) g # 7

(vi)  What is cost nudit report ?
vy sinam ufiaca an B 7

N i v il . ¥
(vii) What is the difference between special audit and investigation !

fadtm sibeg ud ﬁ.__mzz it st & 7
(viii) What do you mean by investigation for specilic purpone ?
fafarw 3zan & foau, spquivrs @ qan sihora B 2
(i) What is performance audit of n company 1
v ) et At s aul 2 7
(x)  Which items ar¢ included in the audit programme of a holding company 7

fariaa wft % i swrdgen i Gt ek w1 anfie favan e [

SECTION-B
qug-9

Describe the ubjectives of Munagement audit,

g s i 3eedl @ 4via £1fag |

How will @ management auditor review of intemnal check ?

% v sk vate faliagor £ i feen wwn i 7

What are the objectives of audit of a Govt, company ?
e W0 A & s & e g 7

cP-2314 2

-

9,

10,

1.

How will you conduet cust audit of overheads of an industry ?
i v yeiv i pfreal a0 e sty ) w0 7

How will you conduct investigation for i suspeeted frd 7
i ety aifms e i foau, s faa st win 7

the provisions of Banking Regulation Act for gudit of gnnual aceounts,

Deseribe
wor 4, anagony 3 @ falauaa sfufaqu & uravrAl @ g

v, i b i, el A 3
dafaa )
Give specinl points you will bear in mind in conducting the audit of o central

co-operative bunk,
s 4 ) e ) SR A T fagt faet wrel a1 war 100, 58 wargd |

SECTION = C
wuE ~ Y
What is management sudit programme 7 Point out the characteristics of 8 good

management audit programme.
AT s a1 qar B 7 ods sreas uaa i woian 61 i qmgd

What directions have been Jssued by the comptroller and Auditor General of india under
the Companies Act for audit of Govl. companics 7

el el B sidam i g @ dafl sfufran @ swota e ud weéa ulsg 3
wr (3O g ua f 7

Giive the statutory rights and duties of a cost suditor.
v fvenn sigu, & dufaa sidn vd s vargd |

An existing company issues a prospectus for further issue of shares. Drafl un

imaginary report is an audilor of the company for inclusion in the prospectus.
s faemma gt it @ i fafi @a3 o foru afaawor i @) § ) @ & st &
w i 31 g i wfinfera %3 # forg ug weatas foid dan #ifad |

CP-2314 3
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CP-2315

M.Com. (Final) Examination, 2019
ACCOUNTANCY & BUSINESS STATISTICS
Paper-VII1
(Advanced Costing Problems)

Time allowed : Three hours
Meaxinim Marks - 100

SECTION - A (Marks : 2 x 10 = 20)
Answer all ten questions (Answer hmit 50 words). Fach question carries 2 marks,
g - 3 (3% : 2 x 10 = 20)

s q@ WAt s son @i, (e o 50 97e) | e WA 2 3 R
SECTION-B n?—ﬂ-.wmz B x§= -—.-.:

Answer any five questions out of seven (Answer limit 200 words). Each question carrics 8
murks.

g -« (31 : B x 5= 40)
ara v @ b whe wet @ v dfau (e i 200 v22) | W@ w8 SEHR |

SECTION -C (Marks : 20 x 2 = 40)

Answer any two questions out of four (Answer limit 500 words). Each question carries
20 marks

g - (31 1 20 x 2 = 40)
ar i A el g et & s A (3an e 500 W) | @ w20 35 @1 |

SECTION - A
g -3
1. (1) Meation four dimensions of good information. (2)
Utk 3T Y T S gl
(1))  What do you understand by margin of safety in BEP analysis 7 (2)
an-fasade, famg faveton i e dm @ smo e awe@ § 7
(iii) Explain how to deal with profit analysis under conditions of uncertainty., (2)
et o favetn 7 it 6 feafy @ g 2 qwngy |
cP-2315 1 P.T.O.
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() What is dilferential costing T axplain.

Aras TR W R TEER |

(V) What do vou understand by adke facility ? Q)
BT am Rt ?
(1) What is the relation betwoen cost and price ? Q)

TR ERAF Eeu’
(Vi) What nvpes of docisions are talea by management in the field of marketing and

distribution ? @)
U B ReR @ emeed SR ek @Al

(viii) Meation natural factors affocting plant location decision. @
S 5 -k & fiei o i w0 ST S e W |

(ix) What is interrelation among efficiency, effectivensss and prodoctivity ? @
FR-TIEA, TR W@ SRS A T EeH e 7

(x) What is the difterence between data and information ? )

S & I A T R 7

SECTION-B
FE~-¥
The statement of marginal cost and profit of a firm is as under : 8)
TS B S S @F O o F1 e e e e
Sales (1600 units) ¥ 3,20,000
Less variable cost (X 15 per units)  2.40.000
Contribution 80,000
Less fixed costs 60.000
Profit 20,000

Calculate : (i) p/v ratio (ii) BEP sales in units (iii) BEP sales in Rs (iv) margin of
safety when sales amount to T 2,56,000.

T AT : () T WA IH9E (i) SRy fag WA (i) wmivea fag fnea o §
(iv) S 51 3% fa43 T 2.56,000

CP-2315 2

CP-2315 3

3. New Age Ltd. having an installed capacity of 100000 units of a product is currently

operating at 70% utilization. Unit cost at different levels production and salcs capacity
(8)

is as follows :

Production and sale capacity | 70% | 80% | 90% | 100%

Cost per unit 95 92 87 82

The company has received two export offers as under :
First order 6000 units at T 46 per unit

Second order 10000 units at ¥ 72 per unit
Advise the company as to whether any or all the export orders should be accepted or

not.
= A ferfirde Fret e &wat 1,00,000 FHET 2 70% TR R FE . Tl & 949H 5=
TN 37 ar ey a &

I TS e & 7o wfawa | sowfowa | 90 wiawa | 100 sfawa

T i 5 95 92 87 82
et ) fafiv it & P & Pt s e & -

SUH IS 6000 FHIEET 9l TH78 T 46 |

fedra ander 10000 et Wi 567§ ¥ 72

T R At 6 38 it ar e Piafa weadl S dier sE R @@ |

. What do you understand by normal loss arising during production and how is it treazed

in cost accounts ? ®
T WA % A N ATl ST B ® T ared @ 39K 36! o oal | 61 SEER
27

P.T.0.
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8, The ditectons of Sohan Lid. Have sbmitted the following information reparding ils v, gy, e A fviv g faeafafera m..aﬁn..&uam“
two prroiduct A o 13 (#) fiz -
- u, . L 3 . . d .ﬁﬁ. .un_.m N& m___xu &—ﬂ&.ﬁ.
e i A isena) ) o ) et A et 13 B s i Pefrfer g gt A E .
wfviadf sl (Faga sgen i o) S 61 80%
Product A Product B o
A s ufvor fae g ¥ o
Direct matetinl per _”:=. | N“_““ H”H ; Ll*.,..l.-. m.trl...-i, = rm. - fomr e A gt
Direet wages per unit (2 per hours) ) e
SRS s syau fagen 10 st 20 ¥
Selling price per unit 400 300 oo oo i 2 S
i facdva famen 6 yfazm 15 sl
Variable overheads per hour 2 2 ﬂ .
Y ked hich of the followi duct mix be adopted for sales, if s bl il o
‘ou are asked to suggest which of the ollowing product mix be adop or salcs, 1 i = .
total fixed overheads are 16000 p.ao. ad 2018-19 3 T 26000 FTAM B3 | LAt il |
v 5 g e & farvm feeped 41 i fopm e =it 7
(1) 100 units of A and 200 units of B L &
ii) 150 units of A and 150 units of B .
ﬁ ; y o 7. What are the advantages and limitations of punch card system ? Mention the fields of
) B Posifiaa 3 @ #4  ang o R g s 9 3R g vl e its application. 8
16000 wfa ad & | ot s T 3 e e dad - § 7 9 vt & i & %1 g A |
() 100 gt A T 200 HEE B
(i) 150 FHIT A T 150 T B 8.  Explain the meaning of Rescarch and Development costs and discuss its importance in
trade in the present era. 8)
i e Farepra et st 37w e S 4 A S 3 g HEe 1 9 |
6.  Costing department of a company has submitted the following information : (8)
Fixed expenses 28800 p.a. SECTION - C
Variables expenses (percentage of sale price) 80% of sales gE -4
Results of a market rescarch are as follows : 9.  What is meant by Electronic Data Processing ? Describe the procedure of installation
ORI . P — . " o i of Electronic Data Processing system. _ (20)
arkets temnat t se . i . ;
cting Alternative | Reduction in selling prices | Increasc in sales volume N 7 3 2 7 AR £t fronr it
First alternative 10% 20% $ifd |
Second alternative 6% 15%
Third alternative 3% 10% 10. “Cost accounts arc key to economy in manufacture and are ?&wvnum.wu_n to the
. intelligent and economical management of a factory™. In the light of this statement
13.9 aE.:m.:.n year 2018-19 amounted to be T 26,000. The present selling price is explain the importance of cost accounts for the management. (20)
T 5 per E.:.vr Which of the marketing alternative should be accepted by the v Sa fmin st i fresata i ? T afers = firrerd vau % e
management ?
s %w..mﬂ%wﬁﬂﬂmﬁuﬂwﬁmﬁw&wﬁmiﬁﬁﬂf
CP-2315 4 CP-2315 5 P.T.O.
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b
. rork out the relative ¥

11. A factory with an old plant has proposal to install a B %mwshﬂmﬂ whether the woba 13 €1 e 1 6% whama affbe B o B wisite {0 & far wmaen #rzg @y
cconomy of the new plant as compared with the existng P ) s T A 2 10 Fitg wite B | st & wrom 3 S § e geas @1 %

ncw plant be installed ve PO, e %lvﬂ!lm._“u,nmhu aarafeai 41 fiafe. 44 ity 1t e 1 % foro =q3am fakd 8 A 0 | v
Particulars _____| Fxisting Plant®) | S TR uA yrEm A 8 40% A €q#r 100% A A | wh § e & -

ﬂamm:__ valwe | 100000 i — 50000 ¥f3 wqTA 20% X 1 zarafiad & urean & fre i faks ur wx ufora asfima o oft v
Phcad cost - oo00_____ | 10.000 61 o | fagura bt w1 S0% wxh i waAy o waTatva 41 3 2 wig e o
e 0.75 et T o 1 2% nf v vt | ireEn wers v g g e 6

1.06) L SR

Variable costperunit 1 ]

ATIZIGEAT 1 ST 274 421 2 |

Selling priceperunit 1 gso 130

| Depreciation N 10% 10% o -
Output (units ,_.mx.oc 640,000

e 22 1751 1 AT F i Y | 44

ueF G4, Fa ara v Gl 75 2, F 7O UF
sjria 41 e 1 47 W52 Zr qEATerE wed 3
wfaa s 41, A 34 |

12. Pooja Limited is manufacturing 4 consumer product and marketing it through 200
depots all over the country. The company is considering closing down the depots and
resorting to dealership arrangement. The tota! trmover of the company is | billion i.c.,

100 crores p.a. The average tumover costs Cic. in respect of each depot is given
(20)

%aﬁﬂﬁzm&u&ﬁ?uﬂuﬁ

below : .
ﬂ_*ﬁaﬁmﬂgﬁﬁﬁgﬁafﬂaﬁu&ﬁm 200 fzd1 % wram A
Fﬂn?ﬂuﬂdfgiﬁﬁwﬁ%wsﬂa@?ﬁﬁwﬁgﬁi

2 | et £ A 3 fakh | fem i X _Sﬂ&«»ﬂaﬂ.w&&%ﬁ*ﬁaﬁ

A vl ey wam ¥

[ () In lakhs
| Annual turnover 50,000

_, Averape inventory 10.00

M Administrative experise per annum 1.00

| Sta salary per annum 150

The inventory carrying cost is 16% p.a. which is the rate for working capital finance.
The other fixed cost pa. is 10 crores. Marketing through dealers would involve
The dealers will assure a minimum sales for cach srca

engaging dealers for cach arca.
present to 1007 a1

This would restlt in increasing the capacity utilization from ¥ at
present the company's p/v ratio is 207% marketing through dealers would involve 4
payment of commission of 8% on sales SU% of existing depot staff will have 1 be :
absorbed in the company. The dealers will deposit 2 crores with company on which

interest at 12% pa will be paid. You are required o work out the impact 0n
profitability of the company by accepting the proposal.

e 6 cP-2315 _ "

Scanned with CamScanner



CP-2316

M.Com. (Finalj Examination, 2019
ACCOUNTANCY & BUSINESS STATISTICS
Paper-IX
(Project Plznning. Apprziszl zad Controf)
Timie allogwed - Trree howrs
Aerriposenn Marks - JOU
SECTION -2 (Mzrks 2 » M =24)
Aswwer 21 tes guesions (Ancwer el 5§ words). Eack guestion camies 2 maeks.
TE-F (FE2-18=20)

RIS ST A (I Y ITEE TR 2T

SECTION -B {(Maris B xS =30
Ancwer zov five guestions o of seves (Loswer limit 200 words) Fach guestion cames 88
s,
w T (FEE = 5=49)

TR TR s e (T T 2N =) ITEE TS BT R
=) - -

SECTION —-C (Marks 20 x 2 = 44)
Answer zmy twe gusstions o of four (Answer limat S0 words). Each gquestion caries 20
marks.
=7 (= 20 22 = 40)

AT E TR AT (S SN TE) TS TS WIS T E |

4
h
af
ﬁ\

i
E)

SECTION -4
FZ-F
1.  Anempt all guestions. Answer should not exceed 5 words in each guestion :

- —

EoEtEa A T T At

e

(i) What is project life cycle 7

TSRS S T2 7

CP-2316 1 P.T.0.
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(i) WhatisDPR? 2
forea witior wfoder w1 2 7

(iii) What is meant by demand forecasting ? 2
i i 1 37w |

(iv) What is mcant by Project Profitability ? 2

RIS AT & T AN R 7

(v)  What do you mean by cash inflows 7 2
Nehg WETE 1 FT AE R 7

(vi) What is Risk Premium ? 2
Sitftay it 1 v warsd |
(vii) What is benefit cost ratio ? 2

A=A 9T 1R 7

(viii) What is Work Break-Down Structure ? 2
T ¥io glar (WBS) 71 R 7

(ix) What do you mean by line of balance ? 2
e YET A 39w aE E 7

(x) What is Project Review ? . 2

st Gdeor war R ?

SECTION-B
g -q

Attempt any five questions out of seven. Answer should not exceed 200 words in cach
question,

T A Rl ala wel & sac AR | 3w dm 200 weel @ wfE T A |

2. Discuss the various stage of project formulation in brief, 8

giaYsen fsa ) fafivs srawnatt 6 G § e Hifd

CP-2316 2

3. The demand for refrigerators in the past six months was as follows : 8
T B WA 3 Shieted o A g SR o
Month Jan | Feb | March | April | May | June
Demand (Nos.) | 200 | 300 | 200 400 | 500 | 600

Forecast the demand for July as

(i) 3 month moving average and

(i) 2 months moving average

et e 35 ford i 1 e IR, 2R

(i) 3w wa A

(ii) 2 wre & = e o I |

4.  The following is the capital structure of Pinky Ltd.: 8
it RerPide B ot s T SR ¢
Source of Fund Amount ¥ | After Tax cost
of capital

Equity sharc capital 1,00,000

share of ¥ 10 cach 10,00,000 11%

Preference Share Capital 2,50,000 8%

(25,000 share of T 10 each)

Retained eamings 5,00,000 11%

9% Debenture 7,50,000 4.5%

Preseatly, the debenture are being traded at 94% preference share at par and equity
share at ¥ 13 per share.

Find out the weighted average cost of capital based on market value weights.

a1 91 94% T AUHF W G TR T quT W1 39 3 _uﬂaﬁﬂmﬂﬂw 4
TR G I o 3T O WRifea Yot e ot e Hifd |

— 3 : e T
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Cost of a project is T 12,000 annual cash inflows T 2,000, life 8 years and cost of

capital is 10%. If the present value of T 1 received annually for 8 ycar at 10% rate is

53349, Calculate the present value index.
& qidrE A 12,000, ¥E g IR T 2,000, e F1t 8 ad, gaf
ST 10% 2 | af2 § 79 3 fre vy ad v o TR 10% €U TN e 5-3349 ®

A T R g o iR |

Shreeman Ltd. has given the following possible cash inflows for two of their projects
X and Y. out of which one has to be selected. Both the projects will require an equal

investment T 10,000.
st T 3 S & wiEEe X e v f5 & T 1 99 T R, S A A A R
T g USS JaTe B3 3 | SFt YA § % 10,000 % v fafgrm 6

FeESars |

| Possible PrejectX Project Y

Events [ shinflows | Probability | Cash inflows | Probability
A | 8000 0.1 24000 0.10
B 10000 02 20000 0.15

| c 12000 04 16000 0.50

_ D 14000 02 12000 0.15

# E 16000 0.1 8000 0.10

Which project should be selected for investment 7

T g = T OHE 5 95 AT EE 7

cr-2318 3

Differentiate between Project budgeting and forecasts. 8
el wore wd tueE i s i )
Explain the difference between internal and external project control. 8

ﬁﬂ?ﬂﬁa@%&yﬂwﬂsmsﬂﬁm&*ﬂm

SECTION-C
gE-d

Answer any two questions out of four (Answer limit 500 words).

A A Frdl @ vt & at A (STEh 500 IR) |

9.

10.

What is a project ? What is project life cycle ? Describe in brief the action needed at

cach stage from identification to implementation of a project. 20

i ®@1 2 7 afEeET a5 4R 7 s IfeA ¥ B 0 Tds
JTaET i EES SRS 1 v Hifd |

The following data related to a manufacturing co. 20
Prefufias @is s Pl = 3 g=fRa R

Sales 8000 unit @ ¥ 10
Variable Expenses

m
@

3

@

80,000
64,000
16,000
~24.000
Loss 8,000
What sale are needed to break down in ¥ in unit ?

Contribution

Fixed expenses

What sales are necessary to result in a net income of ¥ 9,000, the n_o_._uon&n
income tax rate is 50% ?

Ew&o&ngEamnzﬁmvnnnwnnﬁu:h&acﬂwﬁduﬁaﬁnmro&vn :
brought down to 10000 units ?

d‘.wuﬂnn&aonu_mu_nuséHaﬂEﬂnSBﬁggonmngmﬁ&
cost ?

5 S PO
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(1 - g e il ) e T A

(2) T 9000 6 T& it g et fesft s A 7 af F

50% &
(3) u@ﬂmfﬂﬂﬁﬁ@;ﬁmﬁw&uﬁsg%ﬁ%%#

(4) FRmam@inz acgﬁmﬁwﬂw%%ﬂﬁ% et il

Devanshi Ltd. has funds of ¥ 2,00,000 which expectedly are not required for next few
years and hence can be deposited in a bank @ 15% interest payable annually.
Alternatively, the funds can be used to install a new machine for the production of a

new item. For this the firm has two options before it.

Machine — I costing ¥ 1,80,000 which is expected to give annual cash inflow of
Z 1,00,000, ¥ 120,000 and % 40,000 respectively for mext three year
Machine — 1T costing 1,90,000 which is expected to give annual cash inflow of ¥
1,00,000, ¥ 1,00,000 and Z 50,000 respectively for next three years.

Present the decision situation in a decision tree and evaluate the oplions.

%?@W%ﬂmmgcbgwﬂnw.?uﬁﬁwmamﬁw@wmﬁﬁmﬂ_im
it st 55 S 1 15% TS 24 S T HE1 A FHA & | Jfous w9 | Bt
%1 7T A 3T 3 B &g U T R e e e o s | gae ol wen
% wig o1 fawew & - wefA-1 @ T 1,80,000 S AT 3 a9t a A T 1,00,000,
Z 1,20,000 1 T 40,000 AT Tehg staai it | wefH-2 =P € 1,90,000 <0 37t 3

i} % fori 7w T 1,00,000, T 1,00,000 741 T 50,000 s aiits sr=ate it |

favia feafar =01 i 2 g o o ot o et g |

CcP-2316

12. What do you understand by Project Managemen

CP-2318

limitations of Project Management.

T YA A 37 1 @ 8 7 QT Y= 3 Iedl ud st o ol SR | |

—_—

t 7 Explain the objectives and

20
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CP-2317

M.Com. (Final) Examination, 2019
ACCOUNTANCY & BUSINESS STATISTICS
Paper-X
(Taxation and Tax Planning)

Time allowed : Three hours
Maximmmn Mariks - 100

SECTION - 4 (Marks 2 x 10 = 20)
Answer 2]l tep guestions (Answer imit 50 words). Each guestion carres 02 marks,
. TE-F ) (3= 2 x 10 = 20)
TEEIF S TR (TR N TE) ITEE IS0 S

SECTION-B (Marks 8 x 5=40)
Answer 2l five guestions out of seven. (Answer Hmit 200 words). Each guestion caries 68

L . B TE-T ) (F=8xS=430)
TEEE S IR T S IR O (T O 200 T) TEETE S IE R |
. SECTION-C (Marks 20 > 2 = 40)
Answer any twe guestions owt of four. (Answer limit 500 words). Each guestion camies
H,GIJNE._ : |
L N FZ-F ) (3% 20 x 2 = 4)
AR A YT TGO (ST M TE) SIS TR W ST |
SECTION — 4 Marix - 2 x 16 =2§)
TE-F

3. .ﬁaﬂugﬁr.ﬁmﬁﬁﬁc&uuﬁﬂnﬂugﬁuuwwwuuwnwnunmm.ﬁr
uﬂﬁnﬂ.ﬂﬂh}_ﬂﬂmﬂ&iumﬂu&ﬁ%f
() W do you mean by pin money 7 ks 2t wexzibie 0 2
.ﬂnﬂduﬂnﬂ.ﬂmﬂ.mﬂ.ﬁﬂﬂwa

(@) Define Divec T

>
EE = o AT 2ha |
(=) Wrine any wo advamapes of emploning own s for wem plEmmEnE. 2
e = 2 e T |
&v) Wiz do sgm mem by Porguisie 7 2

s pin
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(v) What do you mean by Tax Holiday ?
1 S @ o e § 7

(vi) How does direct tax help in economic development ? Write any two points ?

et R A e 1 Fon v e ¥ 1 g 4 g ferfta |

(vii) Written down value of the furniture on Ist April, 2017 was T 22,000, .S_.E .s.g_n
of the furniture 18000 on 21* March 2018. Calculate allowable depreciation on
furniture for the assessment year 2018-19.

At a1 | e, 2017 %) st e T 22,000 41 | 21 57, 2018 % wwed et
2 18,000 3 fazer a4 o | w2 Brutor k201819 % forg oAt i efverd 7 o)
e i |

(viii) A payment of an expenditure of T 50,000 was made by an assesses 10 a person in a
day in cash. What amount is deductible from business and profession head ?

T I ZA1 2 50,000 % W 5 ot YiaH wk a5 o 6 A 1 a2 4 e
TPy e o G ) ofvden A Fem w1 g2 4 e

(ix) What is Capital Gain 7
thum e anad 7

(x) What is Tax Avoidance 7
FA-HAA TN

SECTION ~ B
L9
Anterapt avy frve questions out of seven. Anawer should not exceed 200 words in each
Griestion.
w4 7 Pl oy oA % T S T i 200 I B o Bl e |

2. Vhat do you mrean by “Tax Flasaing” 7

w1 Eora & g ammega ¥ 7

3. Bscuss the going covicers coreept, Aoenual corcept, matching concept of Licre,
G Y DR, TIA R, GO, Tl QR o faend voes® e

B gl

T 2

A

F o

2

2

2

2

(Marka : 8 2 5 = 40)

8

E
i

]

B e

. Discuss the valuation of motor car facility for specified employecs. 8

aftez et % fer s 1 gfamn w1 qeate €3 )

. ASHU i3 engaged in various type of business. From the information given below in

respect of P.Y, 2017-18. You are required to find out his tatal income for the assessment
year 2018-19 and calculate 80 IA & 80 1B deduction.

(1) Profit of T 6,00,000 earned from telecommunication service which was setup on
4
1 2004 :
(2) Profit of T 5,00,000 earned from operation of an industrial park established on
4
1 2000°
(3)  Frofit of T 10,00,000 earned from the business of generation and distribution of
. , 4
power which was established on | 3005

(4)  Profit of 2,20,000 earned fiom an ndhustrial undertaking established on 1 2.

(5) Profit of T 80,000 eamed froen an industrial undenaking established fri a backward
district of B category on 1 @

(6) Profit of T 5,00000 emned from the business of commercial production of
rnineral oils established in 2 region other than North-East region on | u@.l«l.ﬁ‘ 2

) e v e i ¥ e ol 2017418 % wew; § 4 e B

B e 201219 & o 3567 1 v €3 e 65w 20 1A, 80 18 % w24 ST
i |

(1) 142004 %3 Priva 27 Tham o B 2 6,00 000 3% o %5 |

() 1-4-2000 %3 v B vt s vk % P 8 2 500,000 %7 809 50 |

() 1-4-2059 %3 572 7o % T o oy 35, o @ T 10,00 1000 53 A0 5 §
(8)  1-4-1994 %3 T Baivs 25 B T 2,20 000 B HHFHA |

(5) ©3h % st foa § 14200 Fronfa At aH B L0 M AR A

(6) Qﬁgwigaga« méhgﬂﬁﬂ.ﬂunmﬁ%&maﬁ ‘

BB B AT 142012 %9 v Bom v o

. Wisouss any foue peoblem of tax plansing, _ e sk s
w7 e 1wk v wmpon sl 4 B S :
P17 3 . PIL.
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Explain the deductible expenses under the head of house property-
T ety 3 s o wiga = e |

Nisha sold some gold oraments on 10* January 2018 for mmuoo.o and mvnn..a 10,000
for brokerage etc. She got these ornament as a gift in 1968 at the time of marriage. The
donor purchased these omaments for ¥ 40,000 and the fair market value of these

4 . :
omaments on 1 5547 was 1,00,000. She invested % 60,000 in the bonds issued by the

National Highways Authority of India, redeemable after 3 years on 10 March uE.m. As
a tax consultant, advise her that how much amount. She should invest in acquiring a
residential house so that her taxable income under the head income from capital gain is
reduced to zero ? : 8

Y 10 S0 2018 91 F3 04 T 3,82,000 F 33 7€ T 10,000 TEA FE H A |
T3 A T 1968 T T 3 T ven Bt & 1 37 3} A 3 R T 40,000 H @l
T 1-4-2001 T ST TR g6 € 1,00,000 &7 1 35 10 71, 2018 ) T 60,000 WA T
gu@ﬁsnﬂ%ﬁﬂﬂmm&%ﬂaﬂm%&:?ﬁﬂ%wﬁm
=% werme G 6 ag Reet aft 1 3 w3 Rafirdi o seht Goft e o < ot
AR | .

SECTION-C (Marks : 20 x 2 = 40)
wE -4
Write an essay in detail on the basis structure of dircct taxes in India. 20

qWA T Teqa -0 3 FaTgd efE o fran & v v fafag |

10. Mr. RK. Rathi has received an appointment letter from a company of X (Bihar) at a

salary of ¥ 16,500 per month. He has been given full freedom in deciding the nature of
allowances and facilities out of this agreed remuneration. His estimated annual budget
for the previous year 2018-19 is as under :

Items of Expenses
; 4

(1) Expenses on food, clothing, medical etc. 57,200
(2) Rent of the house ’ 36,000
(3) Expenses on education of two children including hostel expenses 10,000
(4) Telephone expenses 15,600
(5) Life Insurance Premium 6,800

T 1,25,600

cP-2317 4

E i (

g under the Income Tax Act 1961 ? Explain. . |
v s 3o B R St 1961 % st @ 39 .ﬂamwiwiﬁ&.
vl v 7 W | | it il A

Ccp-2317 5 o PTO. -

The Provident Fund maintained by the employer is Recognised in which contribution of
both will be equal. But the employer’s contribution will be made out of the agreed
renumeration of T 16,500 per months.

You are a tax consultant required to prepare a salary package to EE.EE« his tax
liability. Assuming that his other taxable income is T 2,30,000. 20

A 3, T . . () B g A T 16,500 5 7T 35 et ¢ PRy

- gand | T Pifa whofe § 2 RfER G gRm R T FR R FR R Et 1w

a4 2018-19 % frg agwiia wwe A vwr ? -
TR, g 8
4

(1) i, 98, faferen anf wem 57,200
(2) v R 36,000
@) qa=hd fenwem, sEAm e afE 10,000
@ Wensm . 15,600
(5) e e fiftm 6,800

1,25,600

v v e ST v s & R 2 v W B | S v
39 2 16,500 S TE % Fruffa 3o 3§ ¥ @ fan Smem | A9 = aEnEER S W E

S e G e e R S R G A R | T A e P e SR

T T 2,30,000% |

What deduction are available to an industrial undertaking from its u_.oum total income
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12. The profit and loss account of Mr. Ankush for the year ending 31* March, 2018 is as

under : - 20
3179, 2018 St BHIE B a1t 78 & R st sigmHram-aif @ e R}
4 L4
Salary 13,500 Gross Profit 91,700
Trade Expenses 2,600
Rent and Rates 2,600
Discount and Allowance 1,350
Advertisement 1,500
Gift and Presents 2,150
Charities 4,400
Repair and Renewals 1,250
Life Insurance Premium -~ 3,800
Interest on Capital 3,200
Bad Debts 1,600
Allowable Depreciation 2,000
(Excluding copy right)
Travelling Expenses 2,850
Sales Tax paid 3,200
Scientific Research Expenses 3,000

Copy Right Purchased on 18 %w. 5,000

Goodwill Written off 2,700
Entertainment Expenses 11,000
Net profit transferred to capital
account 24,000
91,700 91,700

The other information are as under :

(i) Scientific research expenses are in relation to a payment made to a research
association approved by the Central Government in this behalf,

(ii) Sales tax expenses include a sum of T 200 being the amount of interest for late
payment of sale tax. Payment of sale tax was not made-through cross cheque or
cross bank draft.

You are required to show the deductible and mnon-deductible expenses separately
for the assessment year 2018-19.
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